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1T - I/PART - I
9[99 t§ RIEM9re/ CHILD DEVELOPMENT AND PEDAGOGY

AT - A 7ot @ a7 37 & fw gad afya [A#eq giaT )

Direction : Answer the following questions by selecting the most appropriate option.

1. e & s #® qedm a1 & g
HGTF &
(1) ST
(2) T e
(3) ST HT
(4) THEEE FGET HEAT

2. Th % P GHEIETT &g FHATH &
FuE T frefoRed § @ S-S

3. % PN & Havi & fawy ® fr=fofad
% ¥ 77T FAH BT € 7

(1) g Rl sftrm e aRafda
2t ®1

(2) G @ 8 )

(3) W% TIT | T AEA Sl BKH o

(4) G 9@ FEGH A ST B 2

4. TOfFRT Rern @ ad B

(1) ST Rr=aret # g FE-H
4 Q0 &

(2) AT et & v wer-aat
¥ QU & |

(3) AfFa Rr=arett & fafdre faamear
T QU

(4) ARRTE Briarell # 6 W TR
FH QA HTA
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1. To cooperate the adolescent it is
essential to
(1) Inspire
(2) Indicate his mistakes
(3) Criticise him
(4) Do negative behaviour

2. Which of the following is not a

suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

3. Which of the following is a wrong
statement.about.. emotions of an
adolescent ?

(1)y Emotional expressions are
ed by learning.
ons are permanent.
(3) Every emotion is accompanied by
a feeling.
(4) Emotions are aroused by external
stimuli.

4, Inclusive education means

(1) Meeting individual differences in

general classroom.
(2) Meeting individual differences in

different classroom.

(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.

PO



sl & Z@er 4 wHight W aad
T 9919 g &

(1) s

(2) Hrdr-far @&
(3) wM-wIrREr &
(4) TarEl &

BEl # i gt a1 g w7 @ R
frar <1 wear ®, AR erengs

(1) -8R g1 # a1 H1 |

(2) @ IF R SR R

(3) Wer Al @ FeiE g

(4) f-3garett & &g L

e foma afe § 4 dvgan ok
PN R w0 T g D, o ¥
(1) T ST F&H B |

(2) SPR@ e, e, T o)
Frepe e |

(3) FB IGH HA ST FHoT FHr |

(4) sfafsear @ fafat & fomw &)
sfryEdl Y sEmE ER

IR %I gary Ry &
(1) TH=iE () ST
(3) USTai=E  (4) [T

fFrefafed & § f9-ar Rroivraer A
A e &1 o @ 727 8 ?

(1) 9 77 §E H TF GHY qEE
Eﬁ’:ﬂl ¥

(2 Ruda {1 & ofq sredor
@) BN et 7w FH

(4) fafdre st § fa@r e
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(4)

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively

inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for
(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.

(4) thinking about ways of reacting.

ﬁethod of dealing with adolescent
nts and teachers is

(1) Autocratic
(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is nof a
characteristic of social development in
adolescence ?

(1) Active member of their peer

group
(2) Being an attraction towards
opposite sex
(3) High decrease in friendly
relationship

(4) Extension of special interests



10.

11.

12,

13.

14.

% R o9 9F & @ FE Fa o
S @Er o T forae, 3@ e @
T &

(1) deMgTd HFBR

2) feFrarEs TaEr

(3) T R

@) oof T we

TIOT YERATT T gHad @

(1) g% e |
(2) Tl F foe ferae @

(3) W& g (Fa) G A
(4) TORIE AT FH A

‘wad R &% g (CCE) &

R §

(1) P9 aqH H qDAET FOGAEA
HEA |

(2) FaE & |t Gl g B |

(3) &aq B % & Bl Gedih B |

(4) Fa Ol G BN oAb B |

Frefefad & & -4

%l S (Gran) 787 © ?

(1) faearn

(2) iR

3) faggsa

(4) T

P ofewa #1 ad ©

(1) 9% & FFeR 8 B9 g 9iEa |

(2) frers # Rror gt § oRad=
(3) YrEgEE] H YRAR |

(4) WEFEERy H T B
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(5)

o d

10.

11.

12,

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1)
(2)

Speaking accurately
Writing  without  committing
mistakes '

3
(4)

Continuous

Listening message properly
Doing mathematical calculations

and  Comprehensive

Evaluation (CCE) aims to evaluate
(1)
(2)

The reasoning of child only.

All aspects of development of
child.

The knowledge of child only".

The understanding of child only.

ofathe following is not a trait
ity) of a creative child ?

Elaboration

(1)
@)
(3
4)

Learning outcomes means

(1)

Originality
Accuracy
Novelty

Change in the behaviour of the
student.
(2) Change in teaching method of the
teacher.
(3)

Recognization of the
matter.

subject-

)

Completion of content.

P.T. O.
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16.

17,

18.

o &1 e B gy B 2 7

(1) a3 & 99 & g7
2) JemEEer F AvE

(3) PrameE & v
(4) TIEHEET B AN

AT B AR A B g
Frefefed & & #F-a smam swgw
TETR 7

(1) I Tt & e e = |

(2) IUgF G A1 arnh Sueer w0
S =R |

() % ffeTa (daa) F¢ 3 =
(4) aﬁamaﬁardmm\%m

Pt & T, 9w wy § oruEiG
fredt & @ a1 @ 9w ah
TR ?

(1) JAETES I
(2) YIRS ST
(3) Hufed I
(4) amest Iurm
SINCIREZ MG A iU e
e et 2

(1) 9% & TS BHE §

(2) IF B IS [HE §
(3) qH B AONF frFrg §
(4) 96 F Tigpios ey §
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(6)

ad

15.

16‘

17

18.

Differentiation of emotions takes
place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence
(4) During adulthood

Which of the following provision is
not suitable to meet individual

differences among learners ?
(1) Their abilities should be assessed.

(2) Adeqﬁate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

Worl;ing with adolescents,
particularly maladjusted one, which is
not appropriate ?

ritical approach
aemocratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

1)

Emotional development of the
child

(2) Social development of the child
(3)

4)

Physical development of the child

Cultural development of the child



19. UF o8 AT & fou drege & sl
H SIHER SETF 2, FiE

(1) 3HY SIAET a0 @A H e
et 21

(2) WEFEE] H T=d AR H HEd
Pt B 1

(3) URHERg H W ddH § THANM H
gerdr e 1

(4) THY 9T I S A B |

T g & qdeen # Feftad §
q HI-81 v 787 2 7

(1) REeEa (2) awged

20.

(3) e () AR
21, Fiifard Fer-wa @ Fe=fateg § 9
P-4 Frgrgan ¥ ?

(1) B &R YR @ AT &,
Frepd frepraen ofit oos Frepdt &t

T FC |
@ 79 aegfs, g i oof ¥

(3) TS OMUFNE = BET B
TIFFART T 2|

(4) BF ‘FE' IUT B qAIA £ |

22. fefofed & § M4 afem &1 @

qFeEE &N Sfawied sy @ wrefis
frm 2 ?

(1) &G &
(2) =E & |
(3) oTefEteT & Fraw
(4) wght & faw
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(7)

19.

20.

21.

22,

A
The of

learning is must for a good teacher,

knowledge of principles

because

(1) It helps in maintaining discipline.

(2) It helps to make content
interesting.
(3) It helps to understand the content

by simple methods.

It saves time.

4)

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(8) Validity (4) Subjectivity

Which of the
characteristics

the
constructivist

following is
of
classroom ?
(1) ‘Students
draws conclusions and compare

design  experiments,

heir findings.

edge is objective, universal
plete.
(3) Teacher transmits authoritative

knowledge to students.

(4) Students look for the
answer.

'right'

Which of the following is the primary

law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

2.T.0,
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(1) o= frarees sty

2 % PR sty

(3) d-FrarcTe erafy

(4) =g i srafy

T S P Goradhal B @1 e @,

NFEME IUARY I B oAl AHEIE
fmE 1 WX FIN 8, 98 IS §

24.

(1) =1 PFFH FT=R

(2) ST JafRTEH 31X

(3) I =X

(4) 999 g JafE oY

q8 ANF AFTE g9 S Rl Faer

B AN HE, FRRG FE U g4
@A F 4G9 Hl &, el

(1) R (2) Sifygmen
(3) iEf (4) " SRR
GRS I L A
B 9Id & i S Ie

(1) gfs @R (1.Q.) & 2

2) AMrF Tfer A.Q.) it B
(3) wiaf afey (E.Q.) & 21
(4) omeorr @y (S.Q.) Bt B

feepre e R | UiT # a0 SRR
A 8, e @ 98 Rrera Fear

25.

26.

27.

(1) fawred & vwpged

(2) SiFEfeRa (=T & aBt A R)
(3) ¥ ¥ fafire

(4) RREE
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(8)

23. According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

24. A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that
arouses, directs and maintains
behavieur is called as

(1) Interest (2) Opinion
(3) Attitude (4) Motivation

25.

S people adjust easily with new
because they have high

(1) Intelligence Quotient (1.Q.).
(2) Academic Quotient (A.Q.).
(3) Emotional Quotient (E.Q.).
(4) Spiritual Quotient (S.Q.).

27. Development generally proceeds from

head to foot, this of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal

principle



28.

29,

H BE a8 qhEr @ foe @fed afted
F @ 2 IgP M T T4 o= %
AN X AeTEEked 39 # awr R
zqa ord ®

(1) e 9vem

(2) & SRm

(3) I SR

(4) ST 9T ar@ 4om

FfrmEdt e IO F FEE d
Frefefad & @ o F99 777 & a6 ©

(1) T8 Afepmeal @ Jradnell, st
3R Afrm 9lt 1 =9 T g

(2) T& FAYY, IFENHT AR G B

et I 97 o 2|

(3) T& FATEF T SFHEHA H 5
WY O A adn 2|

(4) & STIHIAH-STATH, FHET-HA,
oA 99 e
S faftEt @1 s e g

(9)

28.

29.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation
Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's
capabilities, and
learning styles.

capacities

It stresses the
enquiry,
investigation.
3) It emphasises transmitting
knowledge to the learner by the
teacher,

(2)

importance of

observation and

(4)

It uses methods like experiential
learning, problem solving, concept

ing and creative writing.
aattitude 'T do not care' is a

30. ‘H Rl & wWaE T FH@r

FgRT ad g @ JIER B type of behaviour which can be
Fed B ? called
(1) SERHSHAT (1) Aggression
(2) GURITcHSR (2) Defence
(3) STEIH (3) Denial
(4) 9ET™HA (4) Retrogression

Level-3/173 P.T.O.
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9T - I/PART - II
1T - 1 (f8=) / LANGUAGE - I (HINDI)
331 : Featifee gt 2 av 33 2 f g T e g

. 31.

7 e # qeag
(1) feafe = feg + i

(2) JEMEN = 987 + 9%
(3)H‘=ﬂsﬂa+é’f

(4) W = & + Ty

Aty g F F-A ggg T D ?
(1) 3 (2 @

3) & (4) g

‘98 T 9T ewan b T A - 3 R
TF = YA

(1) STeeTa

(2) omaE

(3) ARG

(4) SR

‘o iR o S e w@

% e o g ®

(1) gfeam

(2) s

(3) Sifteraferer

(4) T

Frer o=l § @ -1 9= ‘@R ?
(1) T

(2) foema

(3) @R

(4) Yoo
Level-3/173

32.

33.

34.

35.

;

86. “al¥ gH omd @ F ft R Ay = )
3 9 BY @l F &

(1) SAE~ T
(2) BGETHE e
(3) Hfiey o
(4) 1ot speTet
87. ‘for S affeetied v & T & gen
B - & fow g o= ®
(1) &g
(2) FHH
(3) o199 gH

(9 _FIag
38. %9 s 4 @ # gfte § FvRe &

daﬁ,mﬁghﬂﬁﬁaﬁamﬁm
:

(1) g

(2) FHaet
(3) @E
(4) @UlHT

39. 8 9= § A gom M gm wW
q FETgam e ?
(1) Fofedt
(2) ret
(3) U
(4) =



40.

41.

42,

43.

44.

¥ @ @ gE gl 3™ oaH d
T AT 3 BT

(1) T 7

(2) T S

(3) I 9

(4) dRYg qa

AT B gfe A U g AR 7
(1) =

(2) WEArES Gl

(3) faRrgm

(4) &

-G I ‘Y F A 787 8 7
(1) FEe

(2) Rl

(3) =™

(4) fafarm

M’ a5 H geT FA &

1 TE+9d

(2)'11;5+31

3) T6 + 3@

(4) M +7

AfigEy g F TEE Yy e
(1) arft + 39X

2) M + T

(3) M + @

(4) AT + 9T

Level-3/173

(11)

45.

46.

47.

49.

Rt & ‘& @ft e @ gfie 7§ §
(1) STEIHTT-FEY

(2) HETIT-TEY

(3) STRITOT-3TY

(4) FETITOT-3THY

TETEr g ¥ I9gE e H O
P

(1) e agey

(2) AT TG

(3) Wl TAYEY

(4) =gdl TgEy

77 W T, dw, dEE - A
fow @et ord @ =FE Fife

(1) HeTME & AW & faasma

(9) 7T, T, 57Fel & (O WER ST B
(3) TUEYIE qES § of 9H

4 & =EH § BF S
a & &

1) g

(2) g
(3) STty

(4) e

orgE fae & g
(1) -1

(2) SEHT-HGEHd
(3) IHte-fies
(4) SYU-T&Y



50‘

51.

52.

53.

54.

‘e’ fope T @ g B 7

(1) Srdr

(2) HRE

(3) FSH

(4) =

“gF T ITEE 2 R
M % U ofyg g= & T 5y

(1) o1e .

(2) &=

(3) wF

(4) SR

g o= o Farg e @ w8
gl & ?

(1) FEER

(2) samg

(3) wrefa

(4) FiAEHTS

' Q= ;1 gfee g g ?
(1)

2)

(3) A

(4) AT
?ﬂ-ﬂaﬁﬁmﬁﬂﬁzﬁrm 78 gam
?

(1) THwos

(2) R

(3) g

(4) weE

.............

Level-3/173
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55. e Al AT 9= Bifew

(1) ZaHigs
(2) FfHe

(3) wHETcrR
(4) 9ToHTRE

[A3T : T e B 9EET G T i
98 7 7ol (o7 7T 56 7 60) 2 Fv Hovw

WRead & qrd T a2

ifer wieast # Fwm TEEl @
foter Sufeel & & & T o B AR awm
F e A 4| ER @l 7 N gw A 9w
9o ZFaen & 0y B el ¥ wg a9 9
A o F P ARE S W & Ry
e €Y % w4 ¥ 9 o oK meE
qEE A giefawgs e &1 g8 et
foem <o P Mo 9= @39 Ay @ ©
91 o R @ R § OHOH gl At I
HAY-HEIE=Y & T[El AN H Toias  Jomet
F fewar a9 T YR FAr & Rew 9 &



A F gAE § A F PR G A g
gy iy # gae Rrer @ oY & |9y
®F e oEET oY 9T "7 e & 38
gRel | A FWOT @ o | ARG e Gy

¥ A 39 yHR gHIed & ¢ B 3= gug WIa
% ®Y § 3@ g9 T |

T T & ARAG T H G 5| "
Fofl T F VISR g8 e H AN TG
g ¢ o derle yfa B JHEE qgaE &
qriorF e & STER Tkt HW UF
¥ U o7 S Wowe & freder @ e
oqr | oREs ofR aREe @ FiE Jem T i
I W W F AW W FB O aETd
qreomd R g2 R gufom en o o
9 R®

Tl 78 9 & % odia @ 3B aww
WqUel #H @iEen BH 3eE 98l Wy ¥
o & B fF Hgel oRfid e dgEia A
FAT Y & S| @A R H Sy
@ dfsFdm F A9 | @S Sdd H hea §
Sl F TF A [@ard a9 T 8| & TE
forge o aiex St 9 @ WU @ 99 &
AeF T & T a1 $ fod od &9 T g
WO H ggAifhd R degar A
A oTavEE & W Iu 09 o 78 © e
F & A e A1 e

56. WG G &I Qe 2
(1) 9 WIER
(2) WU fady
(3) WU F WY IRadH
(4) |ft faeeT Ta @

(13)

dds

57. o g Qe 4
() BEH TEE &
(i) WErdM d%Ed &
(iii) a7 =FET %
(iv) gite faugs afEeaar &
Sfe SR feed I g
1) () W@ @)
(2) (i) T (iv)
(3) @ (iii)
(4) Faa (i)

qd & Tias Tomer # otaeH
(1) /i S (2) FE 3
@) FN A (4 g\

58.

T & e 2

(2)
(3) &wEAT
(4) HfEwr Hed

W=y 9 ¥ difes e 2
(1) e

(2) 99U F I

(3) I H FER § G FHIAT
(4) =0T AR foreA

60.

Level-3/173

P.T.0.
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HIT - 111/ PART - 111

ST - 11 (3 ASH)/LANGUAGE - IT (ENGLISH)
Direction :  Answer the following questions by selecting the most appropriate option.

61.

62.

63'

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

(1) ous

(2) some

(3) ose

(4) ful

Level-3/173

64.

65’

66.

‘I don't enjoy going to the dentist.
The

sentence 1s a/an

word 'going' in the above

(1) Present participle
(2) Infinitive
(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the

ark. _
a ather said us not to go to the

park.

(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.

(15)

Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.

(1) Epigram

(2) Paradox
(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/173

A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

71.

72.

(1) My brother is the student in
Mayo College.

(2) My brother is student of Mayo
College.

(3) My brother is a student in the
Mayo College.

(4) My brother is a student in Mayo
College.
(1) Neither of them were present

there;

(2) Neither of them was present

aer of them present there.

(4) Neither of them are present
there.

(1) The roses smell sweet.

(2) The roses smell sweetly.

(3) The roses are smelling sweetly.

(4) The roses are sweetly smelling.

P.T. 0,



73. (1) You certainly did not ought to do

it
(2) You certainly ought not to have
done it.
(3) You certainly did not ought to
have done it.
(4) You certainly ought not to have

been done it.

74. (1) Who was the book given to ?

(2) Who the book was given to ?

3

The book was given to who ?

(4) Whom was the book given to ?

75. Choose the correct phonetic

transcription of the word 'Locate’
(1) Nuket/

(2) /okeit/

(3)‘ Nou'keit/

(4) /ouket/

Level-3/173

(16)

76. Choose the correct direct speech of

the given reported speech :

He said I'd better go because it was late.

(1) He said, "You'd better go because
it's late."

(2) He said, "I'd better go because it
was late."

(3) He said, "You'd better be gone
because it was late."

(4) He said, "You'd better go because
it was late."

77. Which of the following is spelt

correctly ?
(1), Pediatrician

(2) Padritician
(adaitn’cian
( diatrician

78. In which of the following sentences do

we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79.

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said 1

am too young.

(8) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (. Nos. 81 to 85) : Read tf.ie:

following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/173

Which of the following sentences is .

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ighorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art, or sgience seems to destroy that native

to
1 om
necessary to its receiving and giving their
to

warp and trammel the

of mind which 1is

due weight ordinary and casual

impressions,
81. Common sense is a rare and enviable
quality because
(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P.T.O.



82. What is not a requisite of common
sense ?
(1) the wutter absence of all
pretension
(2) bigotry and narrow minded
notions

®3)
(4)

truth and propriety

an unbiased freedom qf mind

83. Which of the following is not stated
by the writer in the passage ?
(1) Affectation

sense.

destroys common

(2) Common sense requires the

utmost simplicity and sincerity.
Common sense feels the air of

truth and propriety as the fingers
feel objects of touch.

(©)

(4) Common sense destroys the
native simplicity and warps and

trammels the freedom of mind.

Common has been well
pronounced to be ‘fairly worth the
seven’ ......cocceeenes

(1) Notions
(3) Talents

84. Fill in the blank with the

appropriate word :

sense

(2) Sciences
(4) Wits

Which is not a synonym of the word
'pedant' ?

85.

(1) dogmatist
(2) formalist
(8) perfectionist
(4) down-to-earth

(18)

Direction : (@. Nos. 86 to 90) : Fill in the
blanks with the most suitable option ;:

86. ........... child should learn to read and
write.
(1) Al (2) Every
(3) Whole (4) Both

87. Can I ask your ........... , do you think

TV violence is harmful ?

(1) opinion (2) favour

(3) question (4) advice

88. Where is my wallet ? I left it .............
the kitchen table.
(1) at (2) in
(3) on (4) by
89. Take some medicine and the pain will
( ck (2) off
' (3) out (4) away
90. The walkers finally arrived at their

destination. They all day, and
they certainly needed a rest. They ......

thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/173



(19) ‘ A
AT - IV/PART - IV
Q& e/ PHYSICAL EDUCATION
R : Fefirga 7o gy @7 ke gag e s g

-Direction : Answer the following questions by selecting the most appropriate option.

91. e & @ d9-d01 & - 91. Which one of the following is not the
T &7 part of Hydrotherapy ?
(1) SEq &9 (1) Whirlpool Bath
(2) 399 &M (2) Contrast Bath
(3) =T EH (3) Wax Bath
(4) wrareRd (4) Cryotherapy
92. SfE Fod H W@ T @ 92. Learning of physical skills is
2 concerned with
(1) HsHHE A | (1) Cognitive learning
(2) WEwEs AfH g (2) Affective learning
(3) Ao ofrm | (3) Motor learning -
(4) o fopeq @8l 8 (4) All options are right
93. fpE Ai5-omge gufy § e 9 & knock-out type tournament

play again ?

A G HT SGET e & 7 a

knock-out type tournament

(1) T Hfep-amee gafa §

(2) =99 ¥H-3T3T Usfg o (2) Double knock-out type tournament

3) EUEIS] qrEee qafa | (3) Bagnal Wild type tournament

(4) wp-ST3e-H4 & gafa A (4) Knock-out-cum league tournament
94. IR WA H FH q PE-AT IS 94. Which of the following factors does

gifad 787 &ar ? not affect physical fitness ?

(1) & AT g I _ (1) Sound sleep and rest

(2) Hfer s (2) Balanced Diet

(3) ufafes et (3) Daily Exercise

(4) 9o (4) Reading

Level-3/173 P.T.O.



A

95. g1 H FA-II A P #t
A= R e & 5@ FXd 50 g8 W

gﬁt{ :
g1 gE-I
@

(a) FTEH AT

(b) Fearg @™ (i) afdemaw afe
(o) T 38 (i) TTEH

(d) ISz FEAM  (iv) faepies R

(v) FEEET

&e:
(a)
(1) (i)
(2) (@i
(3) (1) ) @ @iv)
(4) (D) @)  Gv) W

YT @ st @B feEtha F@ F R
SUGHR AAH B

(1) FoHT S FHA AT g

(2) ¥ F FI I[X B H G

(3) 927 AigaR ‘Rre-a’ &
(4) e rEEe

AT AN & YUY IR B9 #
g

(1) 39 - 999 - SEe - 9roTEH
©Q) FE9 -39 - rEs - 9o
(3) STET - 9OMEW - 99 - I
(4) 9OTER - A - fE - 3w

gd $H Al # e § wduew U
[

(1) e
(2) TEFEA
(3) FererarERdl
(4) THEA

Level-3/173

(b)
)
)

(c)
@
@

(@
- (1)
@iv)

96.

917.

98.

(20)

95. Match List-I with List-II and select
the correct answer using the codes

given below :
List-I List-II
(a) Fartlek Running (1) Speed
(b) Stretching Exercise (1) Maximum
strength

(c) Sprint Runs (ii1) Endurance

(d) Plyometric Exercise (iv) Explosive

strength
(v) Flexibility

Codes :

(a) b © @
(1) (ib) (v) @) (i1)
(2) @1 (v) @) (iv)
(3) (iii) (v) @) (iv)
(4) (1) @)  av) W)

96. Appropriate exercise to develop

abdomen muscles is

-(l) Bend and reach paws exercise
(2) Chin ups the bar

(3) ‘Sit-ups’ with folded knees

FEa d d;allisthenics exercise
st four aspect of Ashtang Yoga

has the following correct sequence

(1) Yam - Niyam - Asana - Pranayam
(2) Niyam - Yam - Asana - Pranayam
(3) Asana - Pranayam - Yam - Niyam
(4) Pranayam - Asana - Niyam - Yam

98. The first step in the treatment of
sports injuries is
(1) Cryotherapy
(2) Hydrotherapy
(3) Electrotherapy
(4) Thermotherapy



99.

100.

101.

102.

103.

104.

105.

aiferag AR wer Red & 7

(1) dig 3 Frea am

(2) TY F IF AT F
EICER:

(4) W3 I 9

T AP — 2012 ¥ AT A FW
fFa gea forer ?

(1) 4 (2) 2

3) 6 (4) 7

TS B FA ATg & B

(1) 2-3eX

(2) 6-8 TN

(3) 4.5-5deX

(4) | e g €
ST 8 I I & 7
(1) UfearE (2) Il

(3) WERT [ (4) =D
(1) dfciEm § (2 fuw ofm ¥
(3) Fwald §  (4) Uigesw &

gw%waﬁw(ﬁ)m%ﬂw
(1) %ad I

(2) Faa T

(3) Fae A

(4) I q1 T

HEURET & 39 TEY H ga o iR
@ i e T R @

(1) ggamzord

(2) TR

(3) R

(4) wifre

Level-3/173

(21)

99.

100.

101.

102.

104.

105.

Soleus‘muscle is located in

(1) Lower leg

(2) Forearm

(3) Trunk

(4) Upper leg

How many medals did India won in
London Olympics — 2012 ?

(1) 4 (2) 2
(3) 6 4) 7

The total air capacity of lung is
(1) , 2-3 litre

(2) 6-8 litre

(3) 4.5-5 litre

(4) All options are wrong

What type of tissue is bone marrow ?
(1) Adipose
(3)  Areolar

(2) Connective
(4) Cellular

|

"word is used in

Eball (2) Table Tennis
all (4) Softball
First class
magnifying
(1) Only force
(2) Only speed
(3) Only strength

lever is capable of

(4) Force and speed both

Name the type of muscles which
contract when the body is in motion

(1) Neutralizers
(2) Antagonists
(3) Stabilizers

(4) Agonist

P.T. 0.



106

107.

108.

109.

110.

111.

Leve

(22)

. UEE A9 F ‘e o
(1) Y% & g
(2) 919 w F g
(3) ST W g
(4) 9 F g

e fer o fRenm @ wiEn @y
PI-97 8 7

(1) -TEmiensht @ o
(2) smife fae

(3) @l & faewrE

(4) WS g
‘Srza’ wfad BT &
(1) PR |

@ TA

(3) oF=9E @

(4) wwel |

QrgE § i A B e ¥
fererepr ST T St & °

(1) iy fafeser @

(2) QUGS AR Hl

(3) ARl (sfafafn) &

(4) EEIEAW F a

@l Aol & e} (Sies) | e @
(1) 99 qur afedes 3 a9 & oER

(2) YR JA1 9feieE & 9" § 99
(3) YR T § & o9 A Hiau®
(4) g2 oW STur & 2

AT FTar @1 T B
(1) aATAEReT & FHROT

(2) M B F

(3) 91 T qAET F BT
(4) TENT % P

1-3/173

106.

107.

108.

109.

110.

111.

In the ancient Greece 'Apollo’ was
(1) God of Sea

(2) God of Healing

(3) God of Fire

(4) God of Water

Which is the common objective of
Education and Physical Education ?

(1) Neuromuscular development
(2) Physical development

(3) Development of sports

(4) Mental development

'Bile' is secreted by
(1) Liver

(2) Kidney

(3) Pancreas

(4) Lungs

Rehabilitation of sports injuries is
done using

(1) Physiotherapy

(2) Corrective exercise

3) Cryotherapy
drotherapy

Second class lever has -

(1) Fulerum is in between force and
resistance

(2) Force is in between fulcrum and
resistance

(8) Resistance is in between fulcrum
and force

(4) Itis without fulerum

Individual differences are due to

(1) Environmental Impact

(2) Heredity Impact

(3) Heredity
Impact

(4) Community Impact

and Environmental



112,

113.

114.

115.

116.

(23)

s et w e #ift

() 999 wREE w9 Ren ¥ iR
Rl

(i) 999 AF (SAF) @9 o/ § SR

g
SRS FoA A

(1) (i) T B

(2) ()R (i) A |/ ¥
(3) () e &, WY (ii) T B
(@) (i) & B, g (@) T B

dfcfiare § fow & ST 9 & o 3 |
(1) T @ Bar &

(2) TF BT F Ierar gAnT At ¥

(3) 3T et P Jerl wErT A &
(4) A A B A F 9GT Ber B

die-dfe I g8 i Feq &
(1) &1 foemgs fafy
2) fafire g9m f&fYy
(3) 2ATY HaAr ST
(4) a4t P T §

HeA & qo &
(1) 390719 | 450 I

(2) 396 A 450 IH
(3) 3967 ¥ 453 IW
(4) 3987 | 453 W

FEAfead T F fewer fFFe ded §
AT & 7

(1) @&
(2) faemgs :
(3) @V 7 fawmge ST

d

(4) T foepeT o B
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112.

113.

114.

115.

116.

Consider the following statements :

(i) Ist Asian games were held at
Delhi.

(i1) Ist SAF games were held at
Dhaka.

In the above statements

(1) (i1) is true.

(2) (i) and (ii) both are true.
(3) (i) is true but (ii) is false.
(4) (ii) is true but (i) is false.

In Volleyball for overhead pass
(1) Head is used

(2) Fingers of one hand are used
(3) Fingers of both hands are used
(4) Palm of both hands are used

BOD-POD is also known as
(1) Air displacement plethysmography
(2) Specific gravity method
Dual energy absorptionmetry
tions are wrong

The weight of Football is
(1) 390 gms to 450 gms
(2) 396 gms to 450 gms

(3) 396 gms to 453 gms
(4) 398 gms to 453 gms

Kinematics analyse the motion in
term of

(1) Acceleration
(2) Displacement

(3) Both Acceleration
Displacement

and

(4) All options are wrong

P.T.0.



117.

118.

119.

120.

121.

‘FrEHTg e # da off Fed §

(1) F4 98 F i ol g

2) T FA

(3) F TF AT ol &

(4) TR 08 FH &

o g e aa @ g € 0

(1) FE (2) Heaw

(3) wgdfed  (4) driET

‘Wire-39 W TEHE B

(1) HARS Juqe A |

(2) & U B H

(3) T qoM H

(4) TS S HH H qAT B
FoN H

Acigs F T8 W U S-S
3 g § B gu e e @

(1) 3FmEn & o

(2) HraeTia & SEE

(3) U HearT |

(4) oEHl I G- HE

gl & e § FEE e U
d= R ge & T R g

g

g1 A1
(a) & & (i) TS
(b) BIdY & (i) T
=9 &g (i) A
(@) foa=ams &8t (iv) 9o
c:

(a) (b) © @
(1) @) (iv) @ (i)
(2) (i) @) @@ @)
3 @ (111) (iv) (@
@ @ (iii) i  @Gv)
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'117. ‘Kyphosis’ deformity is also called
(1) Hollow back |
(2) Round back
3) Lateral back
(4) Back curve
118. Krishna Poonia is related to
(1) Kabaddi (2) Football
(3) Athletic (4) Volleyball
119. 'Lead-up game' helps
(1) To provide recreation
(2) To provide skill
(3) To improve co-ordination
(4) To provide
improves skill

120. The five interlinked rings of five
different colours on the Olympic Flag
reflects
(1) The unity of the world
(2) The brotherhood among mankind
(3) The international co-operation
(4) The sporting spirit of man

recreation and

121." Match List-I with List-II and select
t rrect answer using the codes
below :

List-1 List-II
(a) Long Bone (1) Wrist
(b) Short Bone (ii) Shoulder
(c) Flat Bone (iii) Tibia
(d) Sesamoid Bone (iv) Patella
Codes :

(a) (b) @ @
(1 @ @) @ G
(2 @) @ @ @)
3 @ (iit) Gv) ()
4 @ (1ii) (i) (@)



(25) A
122. 1 & | PE-H QAW H Gae 7@ 122. Which of the following is not a
27 'playing surface' ?
(1) g (2) LIRS (1) Polygrass (2) Astroturf
(3) WEIH (4) T (3) Cybax (4) Teraflex
123. &g {dﬁ T g 1 3TN g? 123. In case of fracture the immediate care
is
1) AN B X B GF F o (1) Take the patient to the doctor
) de TR 9 A T 5 (2) ;S:gg the movement of injured
_ 3 T § ITER BT (3) Give ice treatment
(4) feeg faedt Ea"l’-‘ﬂ:[ FFTT& (4) Antitetanus injection may given
124. S 6t Y [FgH S=F Fer AT & 7 124. John Dewey is referred to as the
father of
(1) TGEREE  (2) TEsER (1) Pragmatism (2) Idealism
(3) FgdaE  (4) SpfEE (3) Realism  (4) Naturalism
125. R qur @R fefefag @9 Rt 125. Schiller and Speancer are associated
Qg us @ geEfag & ? with one of the following theories of
play
M % (1)y Anticipation
(2) e St us energy
3) I i itulation
(4) TR (4) Recreation
126. FaE 99 ¥ ‘ANU @ o e o R 126. How many points are given for 'lona'
a7 in Kabaddi game ?
(1) 5 3% (2) 4 3% (1) 5 points (2) 4 points
3) 3 3% (4) 2 3% (3) 3 points (4) 2 points
127. iRt oregs & 127. Kinesiology is a study of
(1) w9g T @ (1) Human Motion
(2) TE I H (2) Motor Movements
(3) 9miftes @y @ (3) Physical Fitness
(4) ﬂ_ﬁﬁlﬁ Edl (4) Anthropology
Level-3/173 P.T.O.



A
128. ‘G 1 TF R S A 7
(1) @t fiErm=
(2) FY TRy IRl
(3) @Ml @ ™
(4) Wl gdsfer
129. @I & GAII & FBam &% e
A= R gz & wER #9 gU g8t S
g1 gE-I1
(a) el () Aad F9
DEELES (i) 3| FT
(c) FeaTa (iii) o F9 (.
(d) f (iv) TR &g
f?:":
@ (b (o (d)
1) @ (i) @) (@)
(2) ) (@ (iv) (i)
(3 Gv) Gi) @) (i1)
4) @(v) ~ @) @ (ii1)
130. g ¥ HE-E1 THH IE FAN
S g 7
(1) T
@) g %
3) T
(4) &==*
181. gmiifRe farem @1 @2y 2
(1) &t F e
(2) @A F GUR
3) I oy

(4) =T & Tl o

Level-3/173

(26)
128. Who is known as the 'Father of Yoga' ?
(1) Swami Shivananda
(2) Rishi Mahesh Yogi
(3) Swami Swatam Ram
(4) Maharshi Patanjali
129. Match List-I with List-IT and select
the correct answer using the codes
given below :
List-I List-I1
(a) Hockey (i) Rover's Cup
(b) Badminton (ii) Davis Cup
(c) Football (iii) Uber Cup
(d) Tennis (iv) Rangaswami Cup
Codes :
@ b © (d)
MmO 6@ G G
(2) ) ) _Gv) (D)
(3 Gv) @) @) (i1)

@) @Gv) G) @ (iii)

technical term is involved in
f Hockey ?

(1) Injector
(2) Putting
(3) Let
(4) Stick

131. The objective of Physical Education
is

(1) Development of sports
(2) Improvement of fitness
(3) Longevity

(4) Wholesome
personality

development  of




132.

133.

134.

135.

136.

137.

(27)

g&ﬁs fmfor & SEEY #A a4

(1) I

(2) TR

(3) WERE w1
(4) 9 fpeq T B

qRE @ e 81w gEE @
Fed &

(1) QR

(2) Hreprerr

(3) TG

(4 T faepeq o €

Fgad Pt s g

(1) 9% F 93 IR W

2) T # AP FaE |

(3) & % EHIA W

(4) & F T SR TN &HH |

Tt &1 oref @
(1) T 8§ SwER
(2) 9T § SUER
(3) 99 § IER
(4) T ¥ IER

g # Al §

(1) sHf=El F Srgama
(2) T

(3) femm

(4) =97 Frw

‘Arorard orrE’ BN ad F oo R
w7

(1) 1984
(3) 1983

(2) 1985
(4) 1986

Level-3/173

A

132. A compound that promotes tissue

133.

134.

136.

137.

building is

(1) Caffeine

(2) Amphetamine
(3) Anabolic steroid

(4) All options are wrong

The smallest functional unit of

muscle fibre is
(1) Sarcomere
(2) Sarcolemma
(3) Sarcoplasm

(4) All options are wrong

Equilibrium depends on

(1) Wider base of the object
(2) More height of the object
(3) Light weight of the object

(4) Narrow base and light weight of
the object

185. drotherapy mean
apy with waves
Che apy with water

(3) Therapy with oil
(4) Therapy with heat

Pranayam mean

(1) Discipline of the senses
(2) Concentration

(3) Meditation

(4) Respiratory Regulation

In which year 'Dronacharya Award'
was instituted ?

(1) 1984
(3) 1983

(2) 1985
(4) 1986

P.T.O.



A

138, oriix § ) efedt @ a1 B
(1) &d
(2) G &
(3) WAt & F FIAT
(4) wiEash d@a HoaEd 3

139. angfy difers GoaAT @1 @8 HH g

() @ da F AR
(i)

(iii) A% @R & forg @ A
(iv) & Siaua @ e

1 @& @ Gv) Gi)
(2 Gv) @) @ @)
@ @ ® Gv) , (i)
(4) @ G @) @Gv)

(28)

139. Arrange

138. Function of long bones in the body is

(1) To give strength
(2) To give protection
(3) To act as lever

(4) To provide surface for muscle
attachment

sequential  order  of
constructing frequency table :

(1) Width of class interval

(i1) Range

(ii1) Tally mark for each score
(iv) Number of class interval
Codes :

1) @ G Gv) i)

(2) Gv) ) () (iii)

@ (e ) «Gv) (i)

@ 0 @ G aGv

140. IEIY ARG oo e o 1 i femoris muscles is the prime
e Jeerd @ ? “‘T‘a Hof
: (

L

(1) Eﬁﬂ:ﬁaﬂﬂﬁq Rt
(2) M9 & STgHEA

(3) geA @ M

(4) e (V1) 1 snege

141. 7 & &R e @ 98 o Fed &
(1) ST %1 M

(2) Tidafs @1 faH
(3) fpar oiw wfefrr &1 faw

(4) a1 e

evel-3/173

bow flexion
(2) Thigh flexion
(3) Knee flexion
(4) Dorsi flexion

141. Third law of motion is also called

(1) Law of inertia
(2) Law of acceleration
(3) Law of action and reaction

(4) Law of speed



(29) A

142. iR ® offedow dREew @ U # 142. Identify the route of the oxygen
e ¥ 915 3 H9 § ey transport in the body from earlier to
later
(1) ufegen, 2fha, =g, &e, anddt (1) Alveole, Trachea, Blood, Heart,
? ! ’ ! Artery
(2) Blood, Trachea, Alveole, Artery,
(2) =2, 3fFan, ufegeld, aed, & s
: (3) Trachea, Alveole, Artery, Heart,
(3) 2fFa1, ofegelia, omed, &, =ie Hixea
(4) Trachea, Alveole, Blood, Heart,
(4) 3FFa1, ofeelia, =g, &, el oo
143. EEI F gHaAT IS 2 143. Pushing against wall is an example
of
(1) STEEHies ™AW H (1) Isometric exercise
(2) mﬁ'@aﬁiﬁ M & . (2) Isotonic exercise
(3) STZTIHEARH AN H (3) Isokinetic exercise
(4) FHRAMTEH =W (4) Eccentric exercise
144. UMY dfdcaE Sdiar § 3w 144." How are"the  vest numbered in
T 59 JBR R § 7 International Basketball Competition ?
(1) 18 10 (2 39 15 (1)g 1to 10 (2) 3to15
@ 4316 @ 1315 a aa D@ l1to15
145. -4 ufdEer &1 § OUfed o ¢ c raining method utilizes
; FAONE St @ A & 7 aerobic and anaerobic energy ?
(1) Hasd ' (1) Fartlek
(2) ST STRTET (2) Interval training
(3) T Al (3) Continuous running
(4) drRa JiaTeTor (4) Strength training
146. “G)7: FHy Feoery” areamn & T R 146. "Yogah Karmasu Kaushalam" is a
(1) By § : definition of Yoga, given in
5 3 (1) Bhagwatgeeta
= (2) Mahabharata
3) e & (3) Ramayana
(4) FrT-ga A (4) Yoga Sutra

Level-3/173 P.T.O.
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147. @@ (I999) H qed H; 8 7

148.

149.

150.

(1) ¥€ 378 =gy ¥ 9elds 2|

@) gﬁgﬂﬁ%ﬁa-mwamﬁﬂﬂaw
a

(3) FE ATH AETERASA B YT B

- H WS B |

(4) q&8 oT=d IIEd ordfHed # A
ERER

aefrdl it gfs deH @ oW wais
dierar & A B

(1) 687 109w ¥

(2 139 199 A

(3) 197 259 A

(4) 25 919 § ST A

a'erﬁ gt Tigush 2
(1) 9RERE™
(2) i

(3) Tgfeaq AT
(4) g St

(30)

147.

148.

149.

What is the importance of wellness ?
(1)
(2)

It helps to lead a quality life.

It helps to extend co-operation to
others.

(3) It helps to satisfy your need.

(4) Tt helps to inculcate good habits.

The growth of girls is more rapid than
boys in

1)
(2)
(3)
4

6 to 10 years

13 to 19 years

19 to 25 years

above 25 years

Largest muscle is

(1) Sartorious

(2) Hamstring

(3) CGluteous maximus

(4) Lattissimas dorsi

ajstance between last hurdle and
ing line in 400 meters hurdle

race is

(1) 45 meters

(2) 35 meters

(3) 40 meters
(4) 42 meters

Level-3/173



(31) )
% 314 & foY/FOR ROUGH WORK

- addaz41




AVAD

6. & IR, SR we ¥ PuiRa @ @ s/
o & AR

10.

1.

12.

13.

14.

15.
16.

17.
18.

19.

20.

b AN
ﬁramwm%%: g @Tem & 2,
O e 6 ®

ERT W SR TEd ;E e, Ay SR oard
@ B e g @ Rd §

v ® ©® @
X e @ Surer WEl B AR 20§ Al ST IR T

HIET ST |
- Hr gen gRa®r § 3w weE & fag & T @l

&7
STTE R E PN |

3

. gl 9T DI OMR STR TS W B 3ifhd HY| o

IR dfpa B SR qGeM B WA 0D
(ahg Tege) @y g 2

9% vE 3 fo Ry v AR RAewdl § @ i@ e

@ fors OMR STR U9% W 39 U& ga & & 0 e
Mot /T dfct @ige 49 A W | TP 9% SR 3Afhd H
P 41¢ SN qgoll A8 O qHaT 2 |

qﬂmgﬁﬁm/wmﬁﬁqmmaﬁmeﬁﬂﬁ
aad | g oA # ford |

apepeft @Y uden efe/@E § gaw e @ yfaRaw (e
YHR B ST, I et I B ufE,
UoR, AEEd B SuERy a1 R g uER
# GrEl BT o A A1 SUdT Bee @) AP el B

vhgs R 49 9 W yas sl s e @re
Qe o) e |

D onflerd A wHaEe o W agEl @

aregeff g W A B | ‘

FRRE UdAeE P IYAT SN TAD fa=r g sifom-
qa_mugumﬁfqﬁmm g B el
BT | ﬁﬁ?@maﬁ#a@ﬁmgﬁﬁ-wwm
qE AT

el o 5 9Ed 9T UAd ARl
drermr g ok T e @1 ATAE HIAT ST |
OMR T5% v5@ o T gy Afeen srfefar grr

ar7
AT S &1 S @ fenT @wd G ¥ &7
g vl oY el wg aar § @ g oy i
W # ArEr 7 o 957 o g a7 § §ga

gt / Ao URaerd &1 ST affa 1
e Bt § amEeor @ fog angeft Raxlrer § &
wfpar / Ren-frde 3 ars & wi Fgat vd el @
oy sy W | A @ 9 HHAT BT Bl
ard @ frmi w@ [ & 3ER &8N |

el rerd § wdEm gRaEr AR TR TG B DY AN
AT T BN | _

e TS BN W, arnef Her /e B ¥ @ SR
TS BE—TEEE B ey Wiy & | anefl 3R Arer g9
e gRedr B o o [E |

e &rr 9 gou it greT ard g @ 7S P e
g7
|

6. Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e ® ®

The answer will be treated wrong, if it is marked, as
given below :

© ® © @

If you fill more than one circle it will be treated as a
Wwrong answer.

7. Rough work should be done 6nly in the space provided
in the Test Booklet for the same.

8. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

9. Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

10. The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

11. Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

12. The candidates will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

13. Candidates arenot allowed to carry any textual material,
printed jor written, bits.of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

. Eachlcandidate must show on demand his/her Admit
( ) to the Invigilator.

e, ~without" special permission of the
nt or Invigilator, should leave his /her seat.

16. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

17. Use of Electronic/Manual Calculator is prohibited.

18. The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

19. No part of the Test Booklet and Answer Sheet shall be
detached under any, circumstances.

20. On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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